



ARTICLE METADATA

Article History

Received:	26 July 2026
Revised:	23 August 2026
Accepted:	19 September 2026
Published:	03 October 2026

Corresponding Author

Ubaid Ur Rahman

Professor, Department of Biochemistry,
Khyber Medical College, Peshawar, Khyber
Pakhtunkhwa, Pakistan.

Email: ubaidurrahman@kmc.edu.pk

Keywords: Adiponectin, Troponin I, Type
2 diabetes Mellitus, Coronary heart
disease, creatine kinase, lactate
dehydrogenase.

DOI: [10.64911/fmtdxg77](https://doi.org/10.64911/fmtdxg77)

Quick Response (QR) Code



Accessed from Journal of Pak International Medical College (JPIMC)
Scan to access full text of the article

Scan to read this article.
on our website

Open Access



Original Article

Association of Serum Adiponectin with Cardiac Enzymes in Diabetic Patients Having Coronary Heart Disease

Sadaf Durrani ¹, Ubaid Ur Rahman ², Ubaidullah ³, Naheed Khattak ⁴,
Safiyya Ubaidullah ⁵

1. Associate Professor, Department of Biochemistry, Khyber Medical College, Peshawar, Khyber Pakhtunkhwa, Pakistan
2. Professor, Department of Biochemistry, Khyber Medical College, Peshawar, Khyber Pakhtunkhwa, Pakistan.
3. Assistant Professor Kabir Medical College, Peshawar, Khyber Pakhtunkhwa, Pakistan.
4. Assistant Professor Khyber Medical College Peshawar, Khyber Pakhtunkhwa, Pakistan.
5. Demonstrator, Department of Biochemistry, Khyber Medical College, Peshawar, Khyber Pakhtunkhwa, Pakistan.

Abstract

Objective: To determine serum adiponectin levels and assess their relationship with cardiac enzymes in patients with type 2 diabetes and coronary heart disease.

Methodology: This Case-Control Study was conducted at Khyber Medical College, Peshawar, Khyber Pakhtunkhwa, Pakistan, from October 2025 to March 2026. The study included 60 patients with type 2 diabetes mellitus presenting with a first myocardial infarction and 60 age- and sex-matched healthy subjects. We measured serum adiponectin and troponin I using ELISA kits, and CK, LDH, and ALT using a Micro Lab Analyzer. We analyzed the collected data using SPSS version 21. We used independent-samples t-tests to compare groups and Pearson correlations to assess associations. We considered $p < 0.05$ statistically significant.

Results: Serum adiponectin levels were significantly lower in cases (3.2 ± 1.1 vs. 11.7 ± 2.6 $\mu\text{g/mL}$, $P < 0.0001$). All cardiac enzymes were significantly higher in cases: Troponin I (15.7 ± 14.6 ng/mL vs. 0.014 ± 0.02 ng/mL) and CK (389 ± 43.36 vs. 165 ± 6.78 U/L). LDH (474.54 ± 40.53 vs. 321.59 ± 28.9 U/L) and ALT (115.28 ± 25.63 vs. 45.37 ± 14.6 U/L). We observed a negative correlation between adiponectin and troponin I ($r = -0.62$, $p < 0.001$) and CK ($r = -0.54$, $p < 0.001$).

Conclusion: Serum adiponectin is significantly low in type 2 diabetic patients with coronary heart disease (CHD) and is associated with significantly high cardiac enzymes in these cases with myocardial infarction. Adiponectin may serve as a protective biomarker in diabetic coronary heart disease.

How to Cite: Durrani S, Rahman UU, Ubaidullah U, Khattak N, Ubaidullah S. Association of Serum Adiponectin with Cardiac Enzymes in Diabetic Patients Having Coronary Heart Disease: Original Article. *J Pak Int Med Coll.* 2026;3(3): 74-77.

Introduction

Coronary heart disease [CHD] is the leading cause of mortality among the diabetic population. As the most common complication of type 2 diabetes, CHD accounts for 80% of mortality in this population [1]. Type 2 diabetic patients face a 2- to 4-fold higher risk of cardiac events [2]. Researchers are exploring novel biomarkers that may help diagnose or predict outcomes in these metabolic disorders [3]. Adiponectin is one such biomarker. White adipose tissue secretes this peptide hormone, first identified in 1995. Adiponectin constitutes nearly 10% of serum proteins and typically ranges from 2 to 30 µg/mL. In addition to important functions in the liver and skeletal muscles, adiponectin exerts cardioprotective effects by interacting with its receptor, T-cadherin, on cardiac myocytes [5]. Adiponectin has been proposed to have anti-inflammatory, lipid-regulatory, and anti-atherogenic effects, which may underlie its cardioprotective role. Most of these effects are under investigation to clarify its potential diagnostic, prognostic, and therapeutic functions [6,7,8]. This study aims to determine serum adiponectin and key cardiac enzyme levels, including troponin I, creatine kinase, lactate dehydrogenase, and alanine aminotransferase, in diabetic patients experiencing a first myocardial infarction. It also examines whether adiponectin is associated with these cardiac enzymes in these patients [9]. This study's novelty lies in its simultaneous assessment of serum adiponectin and multiple cardiac enzymes, including troponin I, creatine kinase, lactate dehydrogenase, and alanine aminotransferase, among type 2 diabetic patients experiencing a first myocardial infarction. By examining the relationships between adiponectin levels and these biochemical markers, this study provides locally relevant evidence regarding the potential role of adiponectin as a biomarker of myocardial injury in diabetic patients with coronary heart disease.

Materials and Methods

This Case Control study was conducted at Khyber Medical College, Peshawar, Khyber Pakhtunkhwa, Pakistan. Group A comprised 60 patients with type 2 diabetes who had a first myocardial infarction, while Group B comprised 60 age- and sex-matched healthy controls. All patients were selected randomly. Patients previously diagnosed with CHD and receiving treatment were excluded from the study. All participants with any other major illness, such as liver disease, kidney disease, thyroid disease, endocrine abnormalities, or malignancy, were excluded from both the case and control groups. We conducted the study over six months. We obtained written informed consent from all participants. We recorded a detailed history and demographic characteristics using a structured questionnaire. We also recorded clinical parameters, including blood pressure, height, weight, and BMI.

Biochemical Analysis

We collected fasting blood [5 mL] from all participants. We centrifuged the blood at 4500 rpm for 5 minutes to obtain clear serum. We determined adiponectin and troponin I using ELISA kits from BioVendor, Germany, and the Metrolab Clinical Chemistry Analyzer. We analyzed other cardiac enzymes, including CK, LDH, and ALT, using the Micro Lab Chemistry Analyzer.

Participants

The study included 60 type 2 diabetic patients with a first episode of myocardial infarction (Group A) and 60 age- and sex-matched healthy controls (Group B), giving a total sample of 120 participants. Patients with previously diagnosed coronary heart disease and those receiving treatment were excluded. Participants with major comorbidities, including liver disease, kidney disease, thyroid disease, endocrine disorders, or malignancy, were also excluded. We randomly selected all participants who provided written informed consent.

Statistical Analysis

We analyzed data using SPSS version 21. We compared continuous variables with normal distribution between groups using the independent-samples t-test, and used the Mann-Whitney U test for non-normally distributed variables, including troponin I. We assessed the association between serum adiponectin and cardiac enzymes using Pearson's correlation coefficient (r). We considered P <0.05 statistically significant.

Results

The groups were similar in age (56.4±8.2 vs. 55.9±7.9 years; P=0.73) and sex distribution (62% male in each group). Table 1 shows the biochemical parameters of the two groups. Adiponectin levels were markedly lower in patients with MI than in the control group [3.2±1.1 vs. 11.7±2.6 µg/mL, P < 0.0001]. Cardiac enzymes, including troponin I, creatine kinase, lactate dehydrogenase, and alanine aminotransferase, were significantly higher in group A with MI than in the control group (p < 0.0001). We used Pearson's correlation coefficient [r] to assess the association between adiponectin and cardiac enzymes, as shown in Table 2. We observed a significant negative correlation between adiponectin and troponin I [r = -0.62, p < 0.001], CK [r = -0.54, p < 0.001], and LDH [r = -0.31, p = 0.016], but no significant association with ALT.

Table 1. Comparison of biochemical parameters in the study groups

Variable	Group A Cases means±SD	Group B Control means±SD	P value
Adiponectin µg/ mL	3.2±1.1	11.7±2.6	<0.0001
Troponin I ng/mL	15.68 ± 14.57	0.014 ± 0.02	<0.0001
CK U/L	389.0 ± 43.4	165.0 ± 6.8	<0.0001
LDH U/L	474.5 ± 40.5	321.6 ± 28.9	<0.0001
ALT U/L	115.3 ± 25.6	45.4 ± 14.6	<0.0001

Values are presented as mean ± standard deviation (SD). Group A included 60 type 2 diabetic patients with a first myocardial infarction, and Group B included 60 age- and sex-matched healthy controls. We considered P < 0.05 statistically significant. CK, creatine kinase; LDH, lactate dehydrogenase; ALT, alanine aminotransferase.

Table 2. Association of adiponectin with cardiac enzymes.

Variables	r	p
Troponin I	-0.62	<0.0001
CK	-0.54	<0.0001
LDH	-0.31	0.016
ALT	-0.22	0.10

We used Pearson's correlation coefficient (r) to assess the association between serum adiponectin and cardiac enzymes. A negative r value indicates an inverse association. We considered p < 0.05 statistically significant. CK, creatine kinase; LDH, lactate dehydrogenase; ALT, alanine aminotransferase.

Discussion

Serum adiponectin levels vary widely in health and disease. A research gap remains regarding adiponectin levels in diabetic subjects with CHD, especially MI, and their association with cardiac enzymes in our region. In the present study, we found significantly lower adiponectin in diabetic cases with myocardial infarction. This is the first prospective cohort study to report hypoadiponectinemia with CHD [10]. In the present

study, serum adiponectin was significantly lower in type 2 diabetic patients with a first myocardial infarction than in healthy controls. These findings are consistent with previous reports linking hypoadiponectinemia with cardiovascular disease, type 2 diabetes mellitus, coronary heart disease, and metabolic syndrome [11]. A study described adiponectin as a potential therapeutic target because of its association with metabolic and cardiovascular disorders [12]. Several mechanisms may contribute to adiponectin's cardioprotective effects, including improved insulin sensitivity, increased endothelial nitric oxide production, reduced macrophage foam-cell formation, and inhibition of vascular smooth-muscle proliferation and calcification [13]. The marked reduction in adiponectin observed in patients with myocardial infarction may also reflect inflammatory responses and increased interaction of adiponectin with T-cadherin receptors on injured cardiomyocytes [14,15]. We observed significant inverse correlations between adiponectin and troponin I, CK, and LDH, indicating an association between lower adiponectin levels and greater biochemical evidence of myocardial injury. A similar inverse relationship between adiponectin and CK-MB has been reported in patients with ST-elevation myocardial infarction [16,17]. An association between lower adiponectin levels and higher troponin I concentrations has also been reported in STEMI patients [18]. However, because this study was cross-sectional, these associations should not be interpreted as evidence of causality. The non-significant correlation with ALT suggests that the observed relationship was more closely linked to cardiac injury than to ALT levels in this study. We observed a significant negative association between adiponectin levels and cardiac enzymes, including troponin I, CK, and LDH [19]. This strong correlation further supports our findings by ruling out confounding effects from tissue injury and strengthens the possible causal relationship between decreased adiponectin and myocardial injury. The non-significant correlation between adiponectin and ALT suggests preserved liver integrity in our cases; this further indicates that low adiponectin is more likely a specific response to cardiac myocyte injury rather than a chance finding [20]. A study of ST-elevation myocardial infarction [STEMI] patients reported a rapid decline in adiponectin levels after reperfusion, with the lowest level observed at 24 hours. This reduction was also inversely correlated with CK-MB [$p=0.013$] [21]. A study of 73 STEMI patients reported similar results: an adiponectin level ≤ 1.8 ng/mL was significantly associated with higher troponin I levels [45.01 vs. 5.46 ng/mL, $p=0.03$]. This study identified a cut-off value of 1.8 ng/mL for labeling patients at risk, consistent with the markedly reduced levels [3.2 ± 1.1 $\mu\text{g/mL}$] reported in the present study [22]. Single time-point measurement and lack of long-term follow-up may be limitations. Future large-sample prospective studies are recommended to further confirm the relationship between adiponectin and cardiac enzymes.

Conclusion

Adiponectin is markedly reduced in type 2 diabetic subjects having CHD and is negatively associated with cardiac enzymes. These findings help identify the possible preventive, diagnostic, and prognostic value of adiponectin in patients with myocardial infarction.

Authors' Contributions

Sadaf Durrani: Conceptualization, study design, data acquisition, data analysis, manuscript drafting, and critical revision.

Ubaid Ur Rahman: Conceptualization, study design, supervision, interpretation of findings, critical revision of the manuscript, and final approval of the version to be published.

Ubaidullah: Data acquisition, data analysis, literature review, and manuscript revision.

Naheed Khattak: Data acquisition, data analysis, preparation of tables and figures, and critical revision of the manuscript.

Safiyya Ubaidullah: Data acquisition, data analysis, literature review, manuscript drafting and revision, and reference verification.

All authors: Read and approved the final manuscript and agreed to be accountable for all aspects of the work.

Conflict of interest: None

Funding: We did not receive any funds for the study

Ethical Approval

The Institutional Research and Ethical Review Board (IREB) of Khyber Medical College, Peshawar, approved the study on 08 January 2026 (Approval No. 16/IREB/DME/KMC).

Strength: The study's well age-matched controls and highly significant p -values for the correlation between adiponectin and cardiac enzymes are strengths.

References

- Choi HM, Doss HM, Kim KS. Multifaceted physiological roles of adiponectin in inflammation and diseases. *Int J Mol Sci.* 2020;21(4):1219. doi:10.3390/ijms21041219
- D'Oria R, Schipani R, Leonardini A, Natalicchio A, Perrini S, Cignarelli A, et al. The role of oxidative stress in cardiac disease: from physiological response to injury factor. *Oxid Med Cell Longev.* 2020;2020:5732956. doi:10.1155/2020/5732956
- Zorena K, Jachimowicz-Duda O, Ślęzak D, Robakowska M, Mrugacz M. Adipokines and obesity: potential link to metabolic disorders and chronic complications. *Int J Mol Sci.* 2020;21(10):3570. doi:10.3390/ijms21103570
- Zhao S, Kusminski CM, Scherer PE. Adiponectin, leptin and cardiovascular disorders. *Circ Res.* 2021;128(1):136-149. doi: 10.1161/CIRCRESAHA.120.314458
- Khoramipour K, Chamari K, Hekmatikar AAH, Ziyaiyan A, Taherkhani S, Elguindy NM, et al. Adiponectin: structure, physiological functions, role in diseases, and effects of nutrition. *Nutrients.* 2021;13(4):1180. doi: 10.3390/nu13041180
- Roy B, Palaniyandi SS. Tissue-specific role and associated downstream signaling pathways of adiponectin. *Cell Biosci.* 2021;11(1):77. doi:10.1186/s13578-021-00587-4
- Theofilis P, Sagris M, Oikonomou E, Antonopoulos AS, Siasos G, Tsioufis C, et al. Inflammatory mechanisms contributing to endothelial dysfunction. *Biomedicines.* 2021;9(7):781. doi:10.3390/biomedicines9070781
- da Silva Rosa SC, Liu M, Sweeney G. Adiponectin synthesis, secretion and extravasation from circulation to interstitial space. *Physiology (Bethesda).* 2021;36(3):134-149. doi:10.1152/physiol.00009.2021
- Jung HN, Jung CH. The role of anti-inflammatory adipokines in cardiometabolic disorders: moving beyond adiponectin. *Int J Mol Sci.* 2021;22(24):13529. doi:10.3390/ijms222413529
- Cohen KE, Katunaric B, SenthilKumar G, McIntosh JJ, Freed JK. Vascular endothelial adiponectin signaling across the lifespan. *Am J Physiol Heart Circ Physiol.* 2022;322(1):H57-H65. doi: 10.1152/ajpheart.00533.2021
- Aljafari MA, Al-Suhaimi EA. Adiponectin system (rescue hormone): the missing link between metabolic and cardiovascular diseases. *Pharmaceutics.* 2022;14(7):1430. doi:10.3390/pharmaceutics14071430
- Han W, Yang S, Xiao H, Wang M, Ye J, Cao L, et al. Role of adiponectin in cardiovascular diseases related to glucose and lipid metabolism disorders. *Int J Mol Sci.* 2022;23(24):15627. doi:10.3390/ijms232415627
- Zhang M, Chen X, Zhu Y, Yin L, Quan Z, Ou Y, et al. Causal associations of circulating adiponectin with cardiometabolic diseases and osteoporotic fracture. *Sci Rep.* 2022;12(1):6689. doi:10.1038/s41598-022-10586-1
- Galley JC, Singh S, Awata WMC, Alves JV, Bruder-Nascimento T. Adipokines: deciphering the cardiovascular signature of adipose tissue. *Biochem Pharmacol.* 2022;206:115324. doi:10.1016/j.bcp.2022.115324

15. Lei X, Qiu S, Yang G, Wu Q. Adiponectin and metabolic cardiovascular diseases: therapeutic opportunities and challenges. *Genes Dis.* 2023;10(4):1525-1536. doi:[10.1016/j.gendis.2022.10.018](https://doi.org/10.1016/j.gendis.2022.10.018)
16. Peng J, Chen Q, Wu C. The role of adiponectin in cardiovascular disease. *Cardiovasc Pathol.* 2023;64:107514. doi:[10.1016/j.carpath.2022.107514](https://doi.org/10.1016/j.carpath.2022.107514)
17. Hsiao CH, Hsu BG, Lu CW, Wang JH. Serum adiponectin level is positively associated with vascular reactivity index by digital thermal monitoring in patients with coronary artery disease. *Tzu Chi Med J.* 2023;35(4):348-354. doi:[10.4103/tcmj.tcmj_30_23](https://doi.org/10.4103/tcmj.tcmj_30_23)
18. Zheng Y, Wang Y, Qi B, Lang Y, Zhang Z, Ma J, et al. IL6/adiponectin/HMGB1 feedback loop mediates adipocyte and macrophage crosstalk and M2 polarization after myocardial infarction. *Front Immunol.* 2024;15:1368516. doi:[10.3389/fimmu.2024.1368516](https://doi.org/10.3389/fimmu.2024.1368516)
19. Nielsen MB, Çolak Y, Benn M, Mason A, Burgess S, Nordestgaard BG. Plasma adiponectin levels and risk of heart failure, atrial fibrillation, aortic valve stenosis, and myocardial infarction: large-scale observational and Mendelian randomization evidence. *Cardiovasc Res.* 2024;120(1):95-107. doi:[10.1093/cvr/cvad162](https://doi.org/10.1093/cvr/cvad162)
20. Kizer JR. The elusive quest for causality in adiponectin's bimodal relationship with cardiovascular disease: Mendelian randomization meets Janus. *Cardiovasc Res.* 2024;120(1):3-5. doi:[10.1093/cvr/cvae001](https://doi.org/10.1093/cvr/cvae001)
21. Li S, Han X, Song J, Dong M, Xie T. Mechanism of action and risk prediction of adiponectin in cardiovascular diseases. *Front Biosci (Landmark Ed).* 2024;29(8):286. doi:[10.31083/j.fbl2908286](https://doi.org/10.31083/j.fbl2908286)
22. Gianopoulos I, Mantzoros CS, Daskalopoulou SS. Adiponectin and adiponectin receptors in atherosclerosis. *Endocr Rev.* 2025;46(1):1-25. doi: [10.1210/endrev/bnae021](https://doi.org/10.1210/endrev/bnae021)